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[Ea 46,778
= 17,325
02 QI X2 AL EE(0IETHE) 103,950 0 103,950
ODZLIIY THHHAIE XIS AK
8,250,000& »215+60% 103,950
= 34,650
< 5,197
= 46,778
= 17,325
Sas ANSEXS YLD 2SAM(HEAIY) 105,600 135,000 129,400
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T 61,600
= 17,600
402 2I2F X201 & 105,600 135,000 A29,400
== 26,400
o 61,600
= 17,600
02 QI A2 AL E R (0IETHE) 105,600 135,000 A29,400
OSas HUSSH= L 25AE
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s 26,400
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=S 16,524
s 38,556
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< 16,524
[Ea 38,556
02 LB HANHEE 55,080 14,940 40,140
OdMa= AXHN 2HM AAA
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= 16,524
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= 102,060
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6,300,000 *67S+60% 253,260
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Ea 105,840
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b= MAD|EE 2EALS 10,000 0 10,000
= 3,000
[Ea 7,000
402 2IZtA=01d 10,000 0 10,000
= 3,000
o 7,000
02 RIENZASEZ(0IETHR) 10,000 0 10,000
Ol A 2R ALY
20,000,000 *1IH 2=x50f% 10,000
< 3,000
Ea 7,000
HER, & LS X2 A 19,000 19,000 0
206 M=l 19,000 19,000
01 MZH| 19,000 19,000
OXE% WS X2 A
380, 0002 *50ha 19,000
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401 Al HIZ R 0HHI 210,000 210,000 0
01 AlZ8| 210,000 210,000 0
OJ0S&=20 stz X
30,000,000 7 &H 210,000
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Oount s8340 & &I XA
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NS0 MaH] 22 XA 8,350 0 8,350
S 2,505
= 5,845
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s 1,172
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307 @I2t0| & 12,000 12,000
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=22 80,2403 x1H 246! 19,740
OIS CIHE L olEA JIAHIRT =
=g 80,2403 » 1 »525= 4,173
OdaliE tERE & A JIZM22 AL 404
28s 300,000 x1&* 12043 3,600
Odolis HERE & HEA JIZMI2A &
D04l 20,0002 124%1002 2,000
OIS T U GlEA JI2H 22X &
2 0= 500,000& 22| x1H 1,000
dolE oZY =238 8,000 8,000 0
201 Ler=23| 8,000 8,000
01 AtR2te|Hl 3,000 3,000
OB HEA U HEY 2YSE 7Y
100,000 205 2,000
Obl SalE MEE UK (U BII2l £
M) 1,000,000& 1= 1,000
2 352484l 5,000 5,000 0
OJl&t2= I | 24|
5,000,000& *12] 5,000
HolEs o2 & XEka 2H(el2]) 20,211 19,951 260
101 @12A4H| 20,211 19,951 260
04 JIZtNZ22 XS 2+ 20,211 19,951 260
OZBhE HZE U ToA 2% oI2Y| 20,211
—HEE IR U GIZA JIK 22X
2= 80,2403 x1H*180! 14,444
-5+ 80,2403 x 18 »27== 2,167
—g&Z4d0= 500,000 221 1,000
—28= 300,000 x1& =600 1,800
—E804dl 20,0003 x1& =40 800
dolls OIZXE &X - A 2 21,99 22,000 AT
= 6,600
= 15,399
101 @124H| 6.420 6,311 109
= 1,926
[Ea 4,494
04 JIZtNZ22 NS+ 6,420 6,311 109
Ogolis &t JIZHH 22X Jles
80,2403 x 1 +80! 6,420
= 1,926




2A: sHIIsUEH
I AUNS I (ST - 5E)
Ol SRS HHE E - LHIIS 22 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 4,494
201 et 3| 10,990 11,100 A110
= 3,297
[Ea 7,693
01 At22telt] 2,890 3,000 AT110
Ogals 2H3E & &Hl 23| 2,890
—goiE 2M ¥ E2S(2IEY S) N
289,000 x25+53] 2,890
= 867
Ea 2,023
02 S3=gHl 8,100 8,100 0
ORVIZZLEY S HEFH 2% Al
810,000 x65+23] 8,100
= 2,430
T 5,670
202 04l 2,400 2,400 0
= 720
Ea 1,680
01 =LHOHI 2,400 2,400 0
Ogolis 2 && XA 0]
20,0003 x4 »30! 2,400
= 720
s 1,680
206 MH=HI 2,189 2,189 0
= 657
= 1,532
01 MHZH| 2,189 2,189 0
OdgdliE A & HEE 28N
218,900 x25+53] 2,189
= 657
o 1,532
dolls A2: =29 5,100 5,100 0
= 1,530
[Ea 3,570
202 04| 1,700 1,700 0
= 510
s 1,190
01 2LHoIH 1,700 1,700 0
OJFIE ZAF 04l 100,000 * 174 2 1,700
= 510
o 1,190
301 EetE2 N = 3,400 3,400 0
= 1,020
s 2,380
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2A: sHIIsUEH
HH: ASNS |S2Z(SYHYL/5Y - 55)
Ol SRS HHE E - LHIIS 22 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 3,400 3,400 0
MZ Q HHE A BEE S0 Ayl 2
o 200,0003 #1704 A 3,400
= 1,020
Ea 2,380
B Hols Zrbl X (XEA) 926,640 795,000 131,640
301 LEtE NS 926,640 795,000 131,640
14 0Bt 2as 926,640 795,000 131,640
OBl HaHS 1= X %Xl N
55,000& %5, 616ha*32] 926,640
H Holls 2et2a=xel X 337,500 450,000 A112,500
= 101,250
= 236,250
307 el2to| & 337,500 450,000 A112,500
= 101,250
[Ea 236,250
02 QIZHEAAEE X 337,500 450,000 A112,500
OH dalls 2et2=xic| SFHul Xa
450,000& *1,500ha*50% 337,500
== 101,250
[Ea 236,250
LASXS SY(sEHL /=Y - 5F) 620,760 862,685 241,925
= 80,000
= 102,500
= 438,260
HUHE MM D28 N2 145,810 171,060 N25,250
AWH= HXAME JIsEs X 12,310 12,060 250
201 Ler=23| 5,160 5,160
01 At2teltl 5,160 5,160
OASHSEZ0I 228 849 U TEHE 5,160
—&=% 66,0002 *10H 660
—HF 150,000  10H 1,500
—A=d 10,000& *23|x150 3,000
301 EtE N = 7,180 6,900 250
11 dALEBIXNIE S 7,150 6,900 250
Ox=Y B AHIRA
9,000 *250&H 2,250
OJ0JI=20F sl AH2a 4,900
—=5, A 66,0002 +50& 3,300
—HAgxts 800,000& 22 1,600
SIHHHNalY R 25 10,000 5,000 5,000
307 el2to| & 10,000 5,000 5,000
02 2B YA R E A 10,000 5,000 5,000
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A SI|I=HEH

M ASK2 SH(SUHSI/EY - SE)
Sl RNRE AJIEEIANY X (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OX= ryds =25
3,000,000 *10H 2~ 3,000
= 1,500
Ea 1,500
206 M=l 2,000 0 2,000
== 1,000
o 1,000
01 MHZHI 2,000 0 2,000
OXl= &Al & MHEE 2 =4
2,000,000& 10 2 2,000
S 1,000
= 1,000
402 2IZtA=01d 200,000 0 200,000
= 100,000
o 100,000
02 QI XHE AL E R (01X THE) 200,000 0 200,000
O&Z 4t XxE =35y JBYLEHX 25
40,000,000 *5I 2 200,000
< 100,000
[Ea 100,000
SXITHA ot MA HIAH 25 109,950 0 109,950
20=2S Hols Al X (XEH) 109,950 0 109,950
301 EtE NS 109,950 0 109,950
14 IIEt2 83 109,950 0 109,950
OUL} SHMZTHE MLl X2
150,000 %733ha 109,950
Wetds D2 (sglldrtl/=sY - &) 1,568,748 2,815,517 A1,246,769
= 7,500
Il 12,308
= 16,700
o 1,532,240
negs g8 Jls N 1,568,748 2,815,517 N1,246,769
= 7,500
Jl 12,308
=S 16,700
s 1,532,240
SEE3Y =29 107,467 80,099 27,368
101 ©1AH| 75,167 14,199 60,968
M ORNZZ2NSE S 75,167 14,199 60,968
O EFoE EZAZEMN FEEX Q12| 75,167
== 80,2402 x232 x12& x2H 44,293
-5+ 80,2403 x525=+2H 8,345
—AlBlIE28E 300, 0002 «12& »2H 7,200
—SEFOHI 500, 0009 2522 2,000

_60_




2K s8I|=HH
I YSis I (SUHYL /5D - 5E)
ool ustds oY Jls XY (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
—AUEZ0i|
20,0002 *92! x 122 x30%*2H 1,296
—52422E 60, 180 x50 L x2H 6,018
- 50,000 *12& x2H 1,200
—E[&Z2 80,2403 *30L *100%*2H 4,815
201 LEr2AH| 27,500 51,500 A24,000
01 AFR2t2lHl 5,000 10,000 A5,000
OZHAFA NRBE 72
50,0002 *205*43] 4,000
OBHAIA A48T 7Y
100, 000& x5 *23| 1,000
02 2Z22ZH| 22,500 41,500 19,000
Osetdda 29 22234 22,500
— 25T 022 JtA 7Y
1,500,000& 63 9,000
—4&E DI XM &HISXIH]
2,500,000& *55*13] 12,500
—SE28A H= Heldl
1,000,000& *1E 1,000
206 =8| 4,800 14,400 29,600
01 HEHI 4,800 14,400 9,600
OFEAHOES L GAPOIE EXAE 2
120,000& 105 #23] 2,400
OsYELHITE ALY
120,000& 105 *23] 2,400
EHIEsE &3 3,000 3,000
206 M=H| 3,000 3,000
01 =8I 3,000 3,000
OEHIE=sE &8 J|1E Y
10,0002 x25 %1503 3,000
Ao FE22A 29 22,000 22,000
201 LBt AH| 2,000 2,000
01 AtR2t2lH| 2,000 2,000
O DNAEXEE JI1E P2
200,000& 10 2,000
206 M= H| 20,000 20,000
01 =8I 20,000 20,000
A Zx2UL A 2H HEF2Y
500,000& *403] 20,000
A ZXDE|Al 2H(QIAHH]) 37,585 32,975 4,610
101 2124d| 37,585 32,975 4,610
04 JI1tHNI22XsSE 37,585 32,975 4,610
O Saze|al 29 olAH| 37,585
=23 80,2403 18 x232 x 128 22,147
—F=5Y 80,2403 x 1 *523= 4,173
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s)|=HH
Dot =P (SHNYSL/ 5 - 5E)
egs & Jls N )
SA - ZB . 9(B) - NIRAD - BaS ol b A 2
—ABIEEE 300,000 x1H*12JH & 3,600
—ZE FIH| 500,0002 *1Hx23] 1,000
—ZHHEZ I
20,0003 *1H*92 12 x30% 648
—5222Y 60, 1803 * 12«50 3,009
—fEgse 50,0003 x 1+ 12& 600
—&&3 80,2402 »1Z 302 *100% 2,408
EMEAAN 2 153,760 152,924 836
201 L2 | 99,760 98,924 836
01 At 22|l 17,360 17,324 36
Ot ZAA 2H A2 7Y 17,360
—CHMEAA AIREE P
50,000& x20E+52] 5,000
—=SgJ| =
500,000 *1CH* 122 6,000
—=8J EY 2 300,000& %53 1,500
—QIMEAA 22X TI=H|
300,000& 4 H +23] 2,400
—oiSEHAEIA 2S(MADR)
205,000 1201 = 2,460
02 33244l 82,400 81,600 800
Ot EZA A A4 HH| 7XIH| 82,400
—&IIAER 3,500,000& =123 42,000
—=44 S22 FJIEE =2 L &
FSk=Iy=d 250,000 =12 3,000
—Ql=2HDIE Hel 200,000 123 2,400
— & X2 4= (LC-MS/MS)
17,000,000 * 1=+ 1CH 17,000
— &8 X2 2= (GC-MS/MS)
18,000,0002 1« 1CH 18,000
206 =8l 54,000 54,000
01 M=l 54,000 54,000
Oetdz4Aa 23 M= 54,000
—E248 A 2
2,000,000 *65+23] 24,000
—248 HESE P(AZ, 9A)
7,000,000& x2&*12] 14,000
—QIHEAAN AEEE Y
200,000 x205 *43| 16,000
oM EAM A 2H(e124Hl) 37,585 32,975 4,610
101 @124t 37,585 32,975 4,610
M I1HMZ2Z2XSsE+ 37,585 32,975 4,610
Ot EZA&Al 2 Q12| 37,585
=Jl=22 80,2403 x1Z 232 * 123 22,147
—=F5= 80,2403 x1H «522= 4,173
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2A: sHIIsUE
HE: DEes J|EBI(SYHYSL/5Y - 5E)
ool ustds oY Jls XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 1,200
206 M=l 1,600 1,600 0
== 800
[Ea 800
01 =l 1,600 1,600 0
OJE2n B55 5% J|E 7Y
100,000 x165+12] 1,600
= 800
= 800
B st S A& 49,000 70,000 £21,000
= 14,700
o 34,300
206 M=H| 49,000 70,000 /21,000
== 14,700
o 34,300
01 =l 49,000 70,000 A21,000
ORS0I4S YA 2% HE 7
490,000 x565+203] 49,000
= 14,700
= 34,300
AASEHNS AEAESH ELSA 12,308 6,631 5,677
Jl 12,308
206 MH=HI 12,308 6,631 5,677
Il 12,308
01 M=4l 12,308 6,631 5,677
OSAHEX =M E ZAH
12,308,000 * 104 2 12,308
Jl 12,308
DHRES0IEE dAHH FEA 1,000,000 2,000,000 1,000,000
401 AlZHIZ SO 1,000,000 2,000,000 1,000,000
01 AlZ8| 1,000,000 2,000,000 1,000,000
OLNMRESOIMS A =AY
1,000,000,000& *1IH 2 1,000,000
HY2HZHI(SSII=46E) (OIEHIIE 632,694 654,041 N21,347
elIE =g 178,871 229,403 AB0,532
ol =gl 100,938 141,651 240,713
101 21A4H| 100,938 141,651 N40,713
01 2= 100,938 141,651 A0, 713
OsgoIsdE AR 2R+ (=881
o1 TN 2 D) 89,418
— XIS A
11,3503 x22& 40 Al 2t 1200 2 +60% 71,914
— AL
12,3803 » 1 x40A[ 2t 1270 2 +60% 3,566
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AN sl
M HFY2HAHI(=ZIISHE)(OIEHDIE
s lIEE2ghl EER=E)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
—asiea
12,8442 x3H *40A| 2H+ 1200 2 x60% 11,098
—abigg
9,860 * 1H*40A| 2+ 12JH 2 *60% 2,840
OS2IISHE At 2R4SH(SEHSD
, SO D 2DIH) 11,520
— XIS AHDIH)
10,4162 x 1H *40A| 2t+ 1200 2 x60% 3,000
—AHOIA)
9,860 *3H *40A| 2+ 12JH 2 *60% 8,520
QlIARHH| (=S X2 1) 76,013 84,872 8,859
101 @124t 76,013 84,872 8,859
01 E= 76,013 84,872 8,859
O A2 22 =Y 76,013
—62 12,84421x3H *40A| 2+ 128 18,49
73 11,6022 3 *40AI 2+ 128 16,707
—8= 10, 4162 *3H*40A| 2t 12 15,000
—9= 9,860 *2H*40A| 2t 12 9,466
— KIS A} 11,350 &« 3 +40A| 2t 123 16,344
QIHA2IH(SREZZA) 1,920 2,880 A960
202 o4t 1,920 2,880 A960
01 =WHO4 bl 1,920 2,880 A960
OZ%% 32U =&0]
20,0002 2B 43| 12& 1,920
=&l 453,823 424,638 29,185
Jl2ddl (s X2 Dt 45,145 24,460 20,685
201 B2 AL| 26,920 23,320 3,600
01 ArR22ltl 26,920 23,320 3,600
OXE J|lE2 MREEHI
10,000 18 122 *80% 1,728
SA ZASX 7Y
25,0003 * 18 +0. 68 A+ 122 »80% 2,592
OZHEEH IIECIR 7L
370, 000 »2CH 43| *80% 2,368
OXZglH Eld 2e(2dA)
300, 0003 *3CH*42| *80% 2,880
Om2lH EH F(5H)
250, 0002 *2CH 83| *80% 3,200
O=ADI EH ¢
200, 0002 »2CH*83| *80% 2,560
O=ZAD A & Z2IEI] 2eldl
200, 0002 » 123 «80% 1,920
OZetZ2le)| iz
165,000 =20+ 123 3,960
OAIR4 Z=D| 2teldl
56,000 = 1CH+12& 672
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D S2)|=HH

D BERAAH| (=SS II=HE)(JIEHIIE}

- JI=3t EERE)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OARa SIIEEI| &eldl
60,0003 «2CH* 123 1,440
Odldlel BI%E =M &AL XtE X234l
120,000 22 5% 3,600
202 04d| 18,225 1,140 17,085
01 =W0dbI 18,225 1,140 17,085
O=gXdL HEF 2 SH NI
20,0003 *15F 10 122 *30% 10,800
O=gXdL HSF 22| S|
110,000 * 1524 x32 53| *30% 7,425
Jl2Ztl(s&E018d) 2,688 8,211 Ab,523
201 Ler2 | 2,683 2,49%6 192
01 At 22|l 2,688 2,4% 192
OSEIIE 2% 24|
9,000 x4 x602 x80% 1,728
OYRFL AREE 7Y
20,0002 x5 * 122 »80% 960
Jl2dd|(2etE=sE) 2,016 13,302 A11,286
201 2| 2,016 1,872 144
01 AtR2telt] 2,016 1,872 144
OHBASY AREF SAY|
9,000 x3Z x602 x80% 1,296
CECESIPES-+- 1]
20,0002 x3H 1242 720
J|=2ZH(0lh=YE) 2,4% 6,876 24,380
201 Let2| 2,4% 2,304 192
01 Ar22teltl 2,4%6 2,304 192
Olighsgiy g2 28 S|
9,000& »4H x60 ! *80% 1,728
OllH=gE IR =& ARESE #2
20,0003 *4Z * 123 x80% 768
Jl2ZHI(ASEE) 1,872 5,157 A3,285
201 LBr23| 1,872 1,728 144
01 ArR222lt| 1,872 1,728 144
ORUSH 2 =8 4|
9,000& *3Y 60! *80% 1,296
OYPEA ARBE 7Y
20,0002 *3Z * 1270 2 80% 576
J2ddl(sgII=4H) 336,156 310,652 25,504
201 B2 AY| 336, 156 307,772 28,384
01 ArR22ltl 149,316 134,912 14,404
O&E Il MREE P
20,0003 *48H 1201 & 11,520
QT L SALEX 2
25,0003 x 18 A 48 1201 2 x80% 11,520
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2A: s20|=4dH
. HY2AFAU(sLII=4E)(OIEHIIE
s JlEdhl EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUAHINBHEE S2 7
1,000,000 *23| 2,000
OF4I| L HIGl YR
30,000 *50CH* 1200 & 18,000
Oogaul(ga) 60,0002 x 120 7,200
Oogagsg 72l 50,000& x 1294 & 600
ORS I & 29 25 2
100,000& = 1204 & 1,200
OsgI|edH(sE82n, Agn) ¢
SF& Z4| 9,000& 33 *60 2! *80% 14,256
O4ld| 9] BIZ2 =X A XtE XI=2Z|
120,000 33«2 7,920
OIS AIRI101 2Z 32,800
~ZEH E4(2%)7e
250,000 *4CH*43 4,000
—IO2ly EH (&)1
300,000& *4CH*43] 4,800
—=28)| dxz NS (s=25)
450,000 «2CH* 1204 & 10,800
—S8J| AXE XS(SHPML)
600,000 *1CH* 1201 = 7,200
—AIRI1D| =28 22 7Y
500,000& = 1290 & 6,000
Ost&#X & HAEE 7Y
250,000& =124 & 3,000
o&IIEE 7 100,000 1291 = 1,200
OLola+sE 7| 100,000& = 1201 & 1,200
OHA 224 BRI 5 L HIE
500,000& * 102! 5,000
Ot 2| =2
1,000,000 =124 & 12,000
OsI|I=dEH AldE R3] =52
150,000 *79H A+ 1290 & 12,600
OHMSBAIEE HIIHHEH =2
1,400,000 23] 2,800
Os«2e|dl 25,0003« 1201 & 300
Oagordze| 442 U NZHFSH|
350,000& 1200 & 4,200
02 324l 186,840 172,860 13,980
OFIINEZ 103,200
—BtED| 7,000,000& 1242 84,000
—&I0FM D] 100,000& 1201 = 1,200
—&E &) 1,500,000& = 1291 & 18,000
O=ZAER2 150,000& = 1200 & 1,800
O 2orME 3| 60,0003 *12] 60
OA-EEHIR XL 22,000




SEAk JlsdH
n: Bmeasb(seolsaE) OIE e
el Jl=3t| EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HAL AlER 2]
10,000,000& * 1= 10,000
—sEX | 22|l
10,000,000 *1 10,000
—AR4& HIZ #=clH
100,000& 205 2,000
Oxtgr= Al 43,520
—xz RE4)
160,000 *16LH* 1291 2 30,720
-t =l & FXAl2eld
800,000 = 16CH 12,800
O&EA Hatx 2| & XMl
1,500,000 43 6,000
O AlER=S 180,000 x 1204 2 2,160
Osgll=dE XY 282 8,100
—58 sE(sa)n 450,000 *3CH 1,350
—e at=xt 750,000 ~2CH 1,500
—a" 3= 700,000 +5CH 3,500
—=8 o= 500,000 1CH 500
—S4(XIAHND R 250,000 #5CH 1,250
JlE2Ztl(sEg9) 30,375 0 30,375
202 04| 30,375 0 30,375
01 SLHoIH 30,375 0 30,375
Ozl HRFA 2U £F0iH]
20,0002 x25Z 102 x 1201 2 *30% 18,000
Ol HRFA 242 S0
110,000 2 x25 2 32 53] x30% 12,375
JlEZHI(S o) 33,075 0 33,075
202 04| 33,075 0 33,075
01 =LHOLI 33,075 0 33,075
OS-HE N R 24U S0
20,0003 x21H 152+ 1201 2 x30% 22,680
Ol PR 22 EE0YI
110,000 2 x212H+32 +53] x30% 10,395
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